M2:1.2.1

Modeling with Expressions

Objective: We will be able to interpret algebraic expressions in term
of their context.

_— Vocabulary |
Expression - 1s a mathematical phrase that contains operations, numbers, and/
r variables. DA+SYy —l —Cnshnit
Term-ofa ron are the parts that added/subtracted.

e numerical factor of a variable term.
3 5

Coeftficient - 1s

Numerical expression - contains only numbers.
3+5-6
Algebraic expression - contain at least one variable.
Dxte , Bx , X

Equivalent Expression - 1s where an expression are the same.
3(Bx+3) > INFY
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@' Identify the terms and the coefficients of the expression 8p + 2q + 7r.

—d

terms: Bp, Zg, 2 ;cocfficients: ¥, 2, 7

Constant= 7o

@ Identify the terms and coefficients of the expression 18 - 2x - 4y

terms:- 2 x, *‘7’3 ] | £ : coefficients: 2,—9
Constant= /8
@) Example |
['ckets to an amusement park are $60 for adults and $30 for children. If a

1s the number of adults and ¢ 1s the number of children, then the cost for a

adults and 4 children 1s 60a + 30c.
What are the terms of the expression? ¢ oa. , 30c

What are the factors of 60a? ©0, 4.

What are the factors of 30c? 20, c

What are the coefficients of the expression? £J, 30

@06 6066 o

Interpret the meaning of the two terms of the expression.
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Example
pi ae price of a case of juice is $15.00. Fred has a coupon for 20 cents

@What are the factors of each term?

off each bottle in the case. The expression to find the final cost of the
case of juice 1s 15 - 0.2b, wherein b is the number of bottles

@ What are the terms of the expression? ’&%%

/5, —0.2b

'—,Z Jb

®©Do both terms have coefficients? Explain.

MO , betavce. /5 abes rwr~ ‘t#ive a lar'able.

® What are the coefficients? —2.2

® What does the expression)15 - 0.2bmean in the given situation?

75 —0.26 — Thde FAal lysr- oo F2a Cane o
j(x-&.t_& LI ifU  a MScocie K,

(ﬂ Example ] Interpret the algebraic expression corresponding to the given context.

®

Curtis 1s buying supplies for his school. He buys p packages of
crayons at $1.49 per package and q packages of markers at $3.49 per
package. What does the expression 1.49p + 3.49q represent?

Interpret the meaning of the term 1.49p. What does the coefficient
1.49 represent?

Interpret the meaning of the term 3.49q. What does the coefficient
3.49 represent?

Interpret the meaning of the entire expression.




